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B 20 - 3O0mALT 30 13 6 2 - - 9 - 30
100.0 | 43.3 | 20.0 6.7 - - | 30.0 - 5.9
|%¢$ 40 - 50mfit 22 7 3 3 - - 9 - 22
100.0 | 31.8 | 13.6 | 13.6 - - | 0.9 - 4.3
B 6 OmMALE 11 5 2 - - - 4 - 11
100.0 | 45.5 | 18.2 - - - | 36.4 - 2.2
B FRERNE 1 - 1 - - - - - 1
100.0 - |100.0 - - - - - 0.2
= £k 62 27 7 9 - - 19 - 62
100.0 | 43.5 | 11.3 | 14.5 - - | 30.6 - | 122
& 20 30mAUT 27 8 4 7 - - 8 - 27
100.0 | 29.6 | 14.8 | 25.9 - - | 29.6 - 5.3
&% 40 - 508K 22 13 2 2 - - 5 - 22
100.0 | 59.1 9.1 9.1 - - | 2.7 - 4.3
% 6 OmMRLL 12 5 1 - - - 6 - 12
100.0 | 41.7 8.3 - - - | 50.0 - 2.4
Mt FERHERE 1 1 - - - - - - 1
100.0 | 100.0 - - - - - - 0.2
BT Dt - - - - - - - -
EHERE - - - - - - - - -
®EE (ZOMTY7) 195 68 43 18 1 - 65 - 195
100.0 | 34.9 | 22.1 9.2 0.5 - | 3.3 - | 38.4
mEE - - - - - - - - -

7 kEEN (2X5)

FSA475— (1EE) 183 56 38 16 - - 72 1 182
100.0 | 30.6 | 20.8 8.7 - - | 39.3 0.5 | 35.8
JE—4— (2@EME) 312 112 53 31 1 - 115 - 312
100.0 | 35.9 | 17.0 9.9 0.3 - | 36.9 - | 61.4
REE 14 6 2 4 - = 2 - 14
100.0 | 42.9 | 14.3 | 28.6 - - | 143 - 2.8




18 QERRBMENLIIHT H5HE (BFE)

B3 RiHEW
x £ 3 ® X =
=5 r 10 B © z L i Eil
= b} b} N EN LAY E1] = E
4 2 2 o] b L % 4
1
E 509 341 99 22 4 - 4 2 507
100.0 | 67.0 | 19.4 4.3 0.8 - 8.1 0.4 |100.0
ESHRR 79 56 16 5 - - 2 - 79
100.0 | 70.9 | 20.3 6.3 - - 2.5 - | 156
Br - Lov— 323 219 61 9 4 - 29 1 322
100.0 | 67.8 | 18.9 2.8 1.2 - 9.0 0.3 | 63.5
RE - AR 39 27 7 - - = 5 - 39
100.0 | 69.2 | 17.9 - - - | 12.8 - 1.7
1~3DENTLELZD 67 39 14 8 - - 5 1 66
100.0 | 58.2 | 20.9 | 11.9 - - 1.5 1.5 | 13.0
®EE 1 - 1 - - - - - 1
100.0 - [100.0 - - - - - 0.2
1 B ERTY7)
e - =t 21 14 6 - - E 1 - 21
100.0 | 66.7 | 28.6 - - - 4.8 - 4.1
EES 188 130 4 1 - - 12 1 187
100.0 | 69.1 | 21.8 2.1 - - 6.4 0.5 | 36.9
JLRE - chEp 36 28 6 - - - 2 - 36
100.0 | 77.8 | 16.7 - - - 5.6 - 7.1
|EE 66 44 1 3 2 - 5 1 65
100.0 | 66.7 | 16.7 4.5 3.0 - 1.6 1.5 | 12.8
TE - mE 34 22 5 1 1 = 5 - 34
100.0 | 64.7 | 14.7 2.9 2.9 - | At - 6.7
A - iR (BERBELS) 126 79 22 9 1 - 15 - 126
100.0 | 62.7 | 11.5 7.1 0.8 - | 119 - | 249
EREER 38 24 5 - - 1 - 38
100.0 | 63.2 | 21.1 | 13.2 - - 2.6 - 1.5
mEE - - - - - - - - -
A - B (ERBE LS
a1 65 45 10 5 1 E ) - 65
100.0 | 69.2 | 15.4 7.7 1.5 - 6.2 - | 518
EE R 5 1 - 1 - - 3 - 5
100.0 | 20.0 - | 200 - | 60.0 - 4.0
I 4 3 i - - - - - 1
100.0 | 75.0 | 25.0 - - - - - 3.2
AR 29 15 7 2 - - 5 - 29
100.0 | 51.7 | 24.1 6.9 - - | 112 - | 230
KR 7 3 1 - - - 3 - 7
100.0 | 42.9 | 14.3 - - - | 429 - 5.6
EHEE 12 10 2 - - - - - 12
100.0 | 83.3 | 16.7 - - - - - 9.5
BR 4 2 1 1 - - - - ]
100.0 | 50.0 | 25.0 | 25.0 - - - - 3.2
mEE - - - - - - - - -
N2 FE
2 0BT 126 86 19 6 - - 15 - 126
100.0 | 68.3 | 15.1 4.8 - - 119 - | 249
30mR 91 63 20 2 - - 6 - 91
100.0 | 69.2 | 22.0 2.2 - - 6.6 - | 119
40mR 96 67 18 6 - - 5 - 96
100.0 | 69.8 | 18.8 6.3 - - 5.2 - | 189
5 0@t 100 67 19 5 - 9 100
100.0 | 67.0 | 19.0 5.0 - - 9.0 - | 19.7
6 0ft 60 36 14 2 1 - 6 1 59
100.0 | 60.0 | 23.3 3.3 1.7 - | 10.0 1.7 | 116
7 0®RLLE 3 17 9 1 3 - - 1 30
100.0 | 54.8 | 29.0 3.2 9.7 - - 3.2 5.9
\EE 5 5 - - - - - - 5
100.0 | 100.0 - - - - - - 1.0
{4 - FE1ER
|%fri EXS 319 208 65 12 2 - 30 2 317
100.0 | 65.2 | 20.4 3.8 0.6 - 9.4 0. 62.5
Bt 20 - 30mALT 136 91 27 4 - - 14 136
100.0 | 66.9 | 19.9 2.9 - - | 103 - | 2.8
Eff 40 50&K 121 80 22 7 - = 12 - 121
100.0 | 66.1 | 18.2 5.8 - - 9.9 - | 23.9
Bt 6 OmRLE 59 34 16 1 2 - 4 2 57
100.0 | 57.6 | 27.1 1.7 3.4 - 6.8 3.4 | 1.2
B FRROE 3 3 - - - . - , 3
100.0 | 100.0 - - - - - - 0.6
Y 189 132 34 10 2 - if] - 189
100.0 | 69.8 | 18.0 5.3 1.1 - 5.8 - | 313
&% 20 - 3 0BT 80 57 12 4 - - 7 - 80
100.0 | 71.3 | 15.0 5.0 - - 8.8 - | 158
%% 40 -50mi 75 54 15 4 - - 2 - 75
100.0 | 72.0 | 20.0 5.3 - - 2.7 - | 148
& 6 0OmML 32 19 7 2 2 - 2 - 32
100.0 | 59.4 | 21.9 6.3 6.3 - 6.3 - 6.3
L EREEE 2 2 - - - - - - 2
100.0 | 100.0 - - - - - - 0.4
EREZoLE! 1 1 z - - - - - i
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M= 2k 188 130 41 1 - - 12 1 187
100.0 | 69.1 | 21.8 2.1 - - 6.4 0.5 | 36.9
EEYS 140 95 32 ] - - 8 1 139
100.0 | 67.9 | 22.9 2.9 - - 5.7 0.7 | 27.4
B 20 - 30mALT 62 43 14 1 - - 4 - 62
100.0 | 69.4 | 22.6 1.6 - - 6.5 - | 122
B 40 -50mK 53 36 12 2 - = 3 - 53
100.0 | 67.9 | 22.6 3.8 - - 5.7 - | 105
Bt 6 OmRLE 24 15 6 1 - - 1 1 23
100.0 | 62.5 | 25.0 4.2 - - 4.2 4.2 4.5
B ERROE 1 i - - = . - . 1
100.0 | 100.0 - - - - - - 0.2
& 2K 48 35 9 - - - 4 - 48
100.0 | 72.9 | 18.8 - - - 8.3 - 9.5
ZHE 20 - 3 0mARLT 25 20 2 - - - 3 - 25
100.0 | 80.0 8.0 - - - | 12,0 - 4.9
%% 40 -50mi 17 1 5 - - = 1 - 17
100.0 | 64.7 | 29.4 - - - 5.9 - 3.4
ZE 6 0miuL 6 4 2 - - - - - 6
100.0 | 66.7 | 33.3 = - - - = 1.2
Zft FRREE - - - - - - - - -
R Z Dt - - - - - - - - -
ETIEEES - - - - - - - - -
UM - iR (ERBELSL) 126 79 22 9 1 = 15 - 126
100.0 | 62.7 | 11.5 7.1 0.8 - | 1.9 - | 24.9
ELEEY 64 37 12 5 - - 10 - 64
100.0 | 57.8 | 18.8 7.8 - - | 15.6 - | 126
B 20 - 3O0mALT 30 18 4 3 - - 5 - 30
100.0 | 60.0 | 13.3 | 10.0 - - | 16.7 - 5.9
|%¢$ 40 - 50mfit 22 13 3 2 - - 4 - 22
100.0 | 59.1 | 13.6 9.1 - - | 18.2 - 4.3
B 6 OmMALE 11 5 5 - - - 1 - 11
100.0 | 45.5 | 45.5 - - - 9.1 - 2.2
B FRERNE 1 1 - - - - - - 1
100.0 | 100.0 - - - - - - 0.2
= £k 62 42 10 1 1 - 5 - 62
100.0 | 67.7 | 16.1 6.5 1.6 - 8.1 - | 122
& 20 30mAUT 27 15 5 1 - - 3 - 27
100.0 | 55.6 | 18.5 | 14.8 - - | 1 - 5.3
% 40 -50mfit 22 18 3 - - - 1 - 22
100.0 | 81.8 | 13.6 - - - 4.5 - 4.3
% 6 OmMRLL 12 8 2 1 - 1 - 12
100.0 | 66.7 | 16.7 - 8.3 - 8.3 - 2.4
Mt FERHERE 1 1 - - - - - - 1
100.0 | 100.0 - - - - - - 0.2
BT Dt - - - - - - - -
EHERE - - - - - - - - -
®EE (ZOMTY7) 195 132 36 9 3 - 14 1 194
100.0 | 67.7 | 18.5 4.6 1.5 - 7.2 0.5 | 38.3
mEE - - - - - - - - -

7 kEEN (2X5)

FSA475— (1EE) 183 122 32 5 1 - 22 1 182
100.0 | 66.7 | 17.5 2.7 0.5 - | 12,0 0.5 | 35.9
JE—4— (2@EME) 312 210 65 15 3 - 18 1 311
100.0 | 67.3 | 20.8 4.8 1.0 - 5.8 0.3 | 61.3
mEE 14 9 2 2 - = 1 - 14
100.0 | 64.3 | 14.3 | 14.3 - - 7.1 - 2.8




18 @EREMELICHT HFME (LEY - HER)

3 kEHEH
X I3 = 1 X %
=5 r 10 B © z L i Eil
= b b T T LAy = = *
E2 2 2 i b} L =3 %
#
A
ESIE"N 509 220 116 62 3 - 98 10 499 3.
100.0 43.2 22.8 12.2 0.6 - 19.3 2.0 ]100.0
ESRR 79 31 23 13 1 - 1 - 79
100.0 39.2 29.1 16.5 1.3 - 13.9 - 15.8
- Lo — 323 141 67 35 1 - n 8 315
100.0 43.7 20.7 10.8 0.3 - 22.0 2.5 63. 1
IFE - 0 AEHR 39 19 8 5 - - 6 1 38
100.0 48.7 20.5 12.8 - - 15.4 2.6 1.6
1~3DENTHHRLZDH 67 28 18 9 1 - 10 1 66
100.0 41.8 26.9 13.4 1.5 - 14.9 1.5 13.2
EEZE 1 1 - - - - - 1
100.0 ] 100.0 - - - - - - 0.2
1 EEH (ERTY7T)
dtiEE - =it 21 7 7 1 - - 5 1 20
100.0 33.3 33.3 4.8 - - 23.8 4.8 4.0
EES 188 15 51 21 - - 38 3 185
100.0 39.9 21.1 11.2 - - 20.2 1.6 37.1
HLRE - hEp 36 20 2 - - 8 1 35
100.0 55. 6 13.9 5.6 - - 22.2 2.8 1.0
|EE 66 29 13 9 1 - 12 2 64
100.0 43.9 19.7 13.6 1.5 - 18.2 3.0 12.8
FE - mE 34 13 5 7 1 - 6 2 32
100.0 38.2 14.7 20.6 2.9 - 17.6 5.9 6.4
A - B (BRERUSN) 126 60 23 15 1 - 26 1 125
100.0 47.6 18.3 11.9 0.8 - 20.6 0.8 25.1
ERSR 38 16 12 7 - - 3 - 38
100.0 42.1 31.6 18.4 - - 1.9 - 1.6
EEE - - - - - - - - -
A - R (BESEUN)
= R 65 36 1 9 - - 8 1 64
100.0 55.4 16.9 13.8 - - 12.3 1.5 51.2
EB R 5 1 - - - - 4 - 5
100.0 20.0 - - - - 80.0 4.0
ERR 4 2 i i . - - - :
100.0 50.0 25.0 25.0 - - - - 3.2
HEARIR 29 10 6 4 1 - 8 - 29
100.0 34.5 20.7 13.8 3.4 - 21.6 - 23.2
KR 7 3 1 - - - 3 - 7
100.0 42.9 14.3 - - - 42.9 - 5.6
= IR I 12 5 4 1 - - 2 - 12
100.0 41.17 33.3 8.3 - - 16.7 - 9.6
Rk 4 3 - - - - 1 - 4
100.0 75.0 - - - - 25.0 - 3.2
EEE - - - - - - - -
N2 FE
2 OWMHRUT 126 48 25 18 - - 33 2 124
100.0 38.1 19.8 14.3 - - 26.2 1.6 24.8
3 Otk 91 40 19 10 2 - 18 2 89
100.0 44.0 20.9 11.0 2.2 - 19.8 2.2 17.8
4 0k 96 47 20 14 - - 15 - 96
100.0 49.0 20.8 14.6 - - 15.6 - 19.2
5 Omft 100 43 22 10 - - 21 4 96
100.0 43.0 22.0 10.0 - - 21.0 4.0 19.2
6 Omft 60 28 19 4 1 - 7 1 59
100.0 46.17 31.7 6.7 1.7 - 11.7 1.7 11.8
7 OmALE 31 12 10 5 - - 3 1 30
100.0 38.7 32.3 16.1 - - 9.7 3.2 6.0
EEE 5 2 1 1 - - 1 - 5
100.0 40.0 20.0 20.0 - - 20.0 - 1.0
% - FEREI
|%'H:. 24k 319 123 79 39 1 - 68 9 310
100.0 38.6 24.8 12.2 0.3 - 21.3 2.8 62. 1
EE 20 - 30OWMARUT 136 47 34 16 1 - 35 3 133
100.0 34.6 25.0 11.8 0.7 - 25.7 2.2 26.7
B 40-50mK 121 50 26 17 - - 24 4 117
100.0 41.3 21.5 14.0 - - 19.8 3.3 23.4
B 6 OmMLL 59 26 18 5 - - 8 2 57
100.0 44.1 30.5 8.5 - - 13.6 3.4 11.4
Bt FHEEE 3 - 1 1 - - 1 - 3
100.0 - 33.3 33.3 - - 33.3 - 0.6
& 2K 189 97 37 22 2 - 30 1 188
100.0 51.3 19.6 11.6 1.1 - 15.9 0.5 31.17
ZtE 20 - 30RMARLUT 80 41 10 1 1 - 16 1 79
100.0 51.3 12.5 13.8 1.3 - 20.0 1.3 15.8
ZH 40 - 50K 75 40 16 7 - - 12 - 75
100.0 53.3 21.3 9.3 - - 16.0 - 15.0
ZE 6 0miulLE 32 14 " 4 1 - 2 - 32
100.0 43.8 34.4 12.5 3.1 - 6.3 - 6.4
&t EREDE 2 2 - - - - - - 2
100.0 | 100.0 - - - - - - 0.4
1451 Z D4t 1 - - 1 _ - _ z 1
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FEMR BIR - ) x % - FHK
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M= 2k 188 75 51 21 38 3 185 3.
100.0 | 39.9 | 27.1 | 11.2 20.2 6 | 311
EEYS 140 52 40 17 28 3 137
100.0 | 37.1 | 28.6 | 12.1 20.0 1| 215
B 20 - 30mALT 62 22 17 7 14 2 60
100.0 | 355 | 27.4 | 11.3 22.6 2 | 120
B 40 -50mK 53 20 13 8 1 1 52
100.0 | 37.7 | 24.5 | 15.1 20.8 9 | 10.4
Bt 6 OmRLE 24 10 9 2 3 - 24
100.0 | 41.7 | 31.5 8.3 12.5 4.8
B FRENE 1 - 1 - - 1
100.0 - 1100.0 - - 0.2
EGEY 48 23 1 ] 10 18
100.0 | 47.9 | 22.9 8.3 20.8 9.6
ZHE 20 - 3 0mARLT 25 14 3 1 7 25
100.0 | 56.0 | 12.0 4.0 28.0 5.0
it 40 - 50mit 17 7 5 2 3 17
100.0 | 41.2 | 29.4 | 11.8 17.6 3.4
& 6 OmMLE 6 2 3 1 - 6
100.0 | 33.3 | 50.0 | 16.7 - 1.2
L FERRERE - - - - - -
R Z Dt - - - - - -
14 1 4 (] 25 - - - - - -
UM - iR (ERBELSL) 126 60 23 15 26 1 125
100.0 | 47.6 | 18.3 | 11.9 20.6 8 | 251
ELEEY 64 26 15 5 17 1 63
100.0 | 40.6 | 23.4 7.8 26.6 6 | 12.6
B 20 - 30mICUT 30 12 7 3 8 - 30
100.0 | 40.0 | 23.3 | 10.0 26.7 - 6.0
|%¢$ 40 - 50mfit 22 9 5 1 6 1 21
100.0 | 40.9 | 22.7 4.5 21.3 .5 4.2
B 6 OmMALE 11 5 3 - 3 - 11
100.0 | 45.5 | 27.3 - 21.3 - 2.2
B FRERNE 1 - 1 - 1
100.0 - - 1100.0 - 0.2
= £k 62 34 8 10 9 62
100.0 | 54.8 | 12.9 | 16.1 14.5 12.4
& 20 30mAUT 27 12 1 8 5 27
100.0 | 44.4 3.7 | 29.6 18.5 5.4
&% 40 - 508K 22 14 ] 1 3 22
100.0 | 63.6 | 18.2 4.5 13.6 4.4
% 6 OmMRLL 12 7 3 1 1 12
100.0 | 58.3 | 25.0 8.3 8.3 2.4
Mt FERHERE 1 1 - - - 1
100.0 | 100.0 - - - 0.2
BT Dt - - - - - -
EHERE - - - - - -
®EE (ZOMTY7) 195 85 42 26 2 34 6 189
100.0 | 43.6 | 21.5 | 13.3 .0 17.4 1] 319
mEE - - - - - - - -

7 kEEN (2X5)

FSA475— (1EE) 183 63 42 24 1 48 5 178
100.0 | 34.4 | 23.0 | 13.1 .5 26.2 7| 3.7
JE—4— (2@EME) 312 151 73 32 2 49 5 307
100.0 | 48.4 | 23.4 | 10.3 .6 15.7 .6 | 61.5
REE 14 6 1 6 - 1 - 14
100.0 | 42.9 7.1 | 42.9 7.1 2.8




18 GCERRBEMELICHT 5 (TROBEBOLOTE)

B3 RiHEW
x £ 3 ® X =
=5 r 10 B © z L i Eil
= b} b} N EN LAY E1] = E
4 2 2 o] b L % 4
1
E 509 184 126 127 38 - 32 2 507 3.
100.0 | 36.1 | 24.8 | 25.0 1.5 - 6.3 0.4 |100.0
ESHRR 79 14 18 35 10 - 2 - 79
100.0 | 17.7 | 22.8 | 44.3 | 12.7 - 2.5 - | 156
Br - Lov— 323 130 89 63 17 - 23 1 322
100.0 | 40.2 | 27.6 | 19.5 5.3 - 7.1 0.3 | 63.5
RE - AR 39 14 5 i 5 - 4 - 39
100.0 | 35.9 | 12.8 | 28.2 | 12.8 - | 10.3 - 1.7
1~3DENTLELZD 67 25 14 18 6 - 3 1 66
100.0 | 37.3 | 20.9 | 26.9 9.0 - 4.5 1.5 | 13.0
®EE 1 1 - - - - - - 1
100.0 | 100.0 - - - - - - 0.2
1 B ERTY7)
e - =t 21 5 6 6 3 E 1 - 21
100.0 | 23.8 | 28.6 | 28.6 | 14.3 - 4.8 - 4.1
EES 188 52 43 58 18 - 1 1 187
100.0 | 27.7 | 25.5 | 30.9 9.6 - 5.9 0.5 | 36.9
JLRE - chEp 36 15 13 6 1 - 1 - 36
100.0 | 41.7 | 36.1 | 16.7 2.8 - 2.8 - 7.1
|EE 66 30 13 16 4 - 3 - 66
100.0 | 45.5 | 19.7 | 24.2 6.1 - 4.5 - | 130
TE - mE 34 13 9 7 2 = 3 - 34
100.0 | 38.2 | 26.5 | 20.6 5.9 - 8.8 - 6.7
A - iR (BERBELS) 126 53 28 24 8 - 12 1 125
100.0 | 42.1 | 22.2 | 19.0 6.3 - 9.5 0.8 | 24.7
EREER 38 16 9 10 2 - 1 - 38
100.0 | 42.1 | 23.7 | 26.3 5.3 - 2.6 - 1.5
TR - - - - - - - - -
A - B (ERBE LS
a1 65 33 10 1 6 E 5 - 65
100.0 | 50.8 | 15.4 | 16.9 9.2 - 1.7 - | 520
EE R 5 2 1 1 - - 1 - 5
100.0 | 40.0 | 20.0 | 20.0 - - | 200 - 4.0
RIAE 4 1 2 1 - - - - 4
100.0 | 25.0 | 50.0 | 25.0 - - - - 3.2
AR 29 9 8 6 1 = 4 1 28
100.0 | 31.0 | 27.6 | 20.7 3.4 - | 13.8 3.4 | 22.4
KR 7 1 2 1 1 - 2 - 7
100.0 | 14.3 | 28.6 | 14.3 | 14.3 - | 286 - 5.6
EHEE 12 6 1 2 - - - - 12
100.0 | 50.0 | 33.3 | 16.7 - - - - 9.6
BR 4 1 1 2 - - - - ]
100.0 | 25.0 | 25.0 | 50.0 - - - - 3.2
mEE - - - - - - - - -
N2 FE
2 0BT 126 48 31 24 12 - i - 126
100.0 | 38.1 | 24.6 | 19.0 9.5 - 8.7 - | 249
30mR 91 31 24 26 7 - 2 1 90
100.0 | 34.1 | 26.4 | 28.6 7.7 - 2.2 1.1 | 17.8
40mR 96 35 23 26 7 - 5 - 96
100.0 | 36.5 | 24.0 | 27.1 7.3 - 5.2 - | 189
5 0@t 100 31 28 27 6 - 7 1 99
100.0 | 31.0 | 28.0 | 27.0 6.0 - 7.0 1.0 | 19.5
6 0ft 60 23 13 15 4 - 5 - 60
100.0 | 38.3 | 21.7 | 25.0 6.7 - 8.3 - | 118
7 0®RLLE 3 12 7 8 2 - 2 - 3
100.0 | 38.7 | 22.6 | 25.8 6.5 - 6.5 - 6.1
\EE 5 4 - 1 - - - - 5
100.0 | 80.0 - | 200 - - - - 1.0
{4 - FE1ER
|%fri EXS 319 102 86 85 23 - 22 1 318
100.0 | 32.0 | 27.0 | 26.6 7.2 - 6.9 0.3 | 62.7
Bt 20 - 30mALT 136 51 34 31 12 - 8 - 136
100.0 | 37.5 | 25.0 | 22.8 8.8 - 5.9 - | 2.8
Eff 40 50&K 121 28 39 37 7 - 9 1 120
100.0 | 23.1 | 32.2 | 30.6 5.8 - 7.4 0.8 | 23.7
Bt 6 OmRLE 59 21 13 16 4 - 5 - 59
100.0 | 35.6 | 22.0 | 27.1 6.8 - 8.5 - | 118
B FRENE 3 2 - 1 - - - - 3
100.0 | 66.7 - | 33.3 - - - - 0.6
Y 189 82 40 4 15 - 10 1 188
100.0 | 43.4 | 21.2 | 21.7 7.9 - 5.3 0.5 | 37.1
&% 20 - 3 0BT 80 28 21 18 7 - 5 1 79
100.0 | 35.0 | 26.3 | 22.5 8.8 - 6.3 1.3 | 15.6
%% 40 -50mi 75 38 12 16 6 - 3 - 75
100.0 | 50.7 | 16.0 | 21.3 8.0 - 4.0 - | 148
& 6 0OmML 32 14 7 7 2 - 2 - 32
100.0 | 43.8 | 21.9 | 21.9 6.3 - 6.3 - 6.3
L EREEE 2 2 - - - - - - 2
100.0 | 100.0 - - - - - - 0.4
EREZoLE! 1 - z 1 - - - - i
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M= 2k 188 52 43 58 18 - 1 1 187 3.
100.0 | 27.7 | 25.5 | 30.9 9.6 - 5.9 0.5 | 36.9
EEYS 140 38 36 45 13 - 7 1 139
100.0 | 27.1 | 25.7 | 32.1 9.3 - 5.0 0.7 | 27.4
B 20 - 30mALT 62 20 14 18 7 - 3 - 62
100.0 | 32.3 | 22.6 | 29.0 | 11.3 - 4.8 - | 122
Bt 40 - 50mK 53 10 16 20 3 = 3 1 52
100.0 | 18.9 | 30.2 | 37.7 5.7 - 5.7 1.9 | 10.3
Bt 6 OmRLE 24 8 6 6 3 - 1 - 24
100.0 | 33.3 | 25.0 | 25.0 | 12.5 - 4.2 = 4.7
B ERROE i - - i - - - = i
100.0 - - 1100.0 - - - - 0.2
EGEY 18 14 12 13 5 - 4 - 8
100.0 | 29.2 | 25.0 | 27.1 | 10.4 - 8.3 - 9.5
ZHE 20 - 3 0mARLT 25 7 7 6 3 - 2 - 25
100.0 | 28.0 | 28.0 | 24.0 | 12.0 - 8.0 - 4.9
%% 40 -50mi 17 7 1 5 2 = 2 - 17
100.0 | 41.2 59 | 20.4 | 11.8 - | 1.8 - 3.4
ZE 6 0miuL 6 - 4 2 - - - - 6
100.0 - | 66.7 | 33.3 - - - = 1.2
Zft FRREE - - - - - - - - -
R Z Dt - - - - - - - - -
ETIEEES - - - - - - - - -
UM - iR (ERBELSL) 126 53 28 24 8 = 12 1 125
100.0 | 42.1 | 22.2 | 19.0 6.3 - 9.5 0.8 | 24.7
ELEEY 64 22 19 14 1 - 8 - 64
100.0 | 34.4 | 29.7 | 21.9 1.6 - | 12,5 - | 126
B 20 - 30mICUT 30 10 9 7 1 - 3 - 30
100.0 | 33.3 | 30.0 | 23.3 3.3 - | 10.0 - 5.9
|%¢$ 40 - 50mfit 22 7 7 6 - - 2 - 22
100.0 | 31.8 | 31.8 | 27.3 - - 9.1 - 4.3
B 6 OmMALE 11 4 3 1 - - 3 - 11
100.0 | 36.4 | 27.3 9.1 - - | 21.3 - 2.2
B FRERNE 1 1 - - - - - - 1
100.0 | 100.0 - - - - - - 0.2
= £k 62 31 9 10 7 - 1 1 61
100.0 | 50.0 | 14.5 | 16.1 | 11.3 - 6.5 1.6 | 12.0
& 20 30mAUT 27 9 6 5 3 - 3 1 26
100.0 | 33.3 | 22.2 | 18.5 | 11.1 - | 1 3.7 5.1
&% 40 - 508K 22 14 3 3 2 - - - 22
100.0 | 63.6 | 13.6 | 13.6 9.1 - - - 4.3
% 6 OmMRLL 12 7 - 2 2 - 1 - 12
100.0 | 58.3 - | 16.7 | 16.7 - 8.3 - 2.4
Mt FERHERE 1 1 - - - - - 1
100.0 | 100.0 - - - - - - 0.2
BT Dt - - - - - - - -
EHERE - - - - - - - - -
®EE (ZOMTY7) 195 79 50 45 12 - 9 - 195
100.0 | 40.5 | 25.6 | 23.1 6.2 - 4.6 - | 38.5
mEE - - - - - - - - -

7 kEEN (2X5)

FSA475— (1EE) 183 61 48 42 16 - 16 - 183
100.0 | 33.3 | 26.2 | 23.0 8.7 - 8.7 - | 36.1
JE—%— (2@EKE) 312 17 78 78 22 - 15 2 310
100.0 | 37.5 | 25.0 | 25.0 7.1 - 4.8 0.6 | 61.1
REE 14 6 - 7 - = 1 - 14
100.0 | 42.9 - | 50.0 - - 7.1 - 2.8




18 CEREMELICHT H5HE EAFHROAFLLTE)

B3 RiHEW
x £ 3 ® X =
=5 r 10 B © z L i Eil
= b} b} N EN LAY E1] = E
4 2 2 o] b L % 4
1
E 509 170 118 125 9 - 85 2 507 3.
100.0 | 33.4 | 23.2 | 24.6 1.8 - | 16.7 0.4 |100.0
ESHRR 79 16 1 20 - - 32 - 79
100.0 | 20.3 | 13.9 | 25.3 - - | 405 - | 156
Br - Lov— 323 122 89 71 8 - 3 2 321
100.0 | 37.8 | 27.6 | 22.0 2.5 - 9.6 0.6 | 63.3
RE - AR 39 1 7 13 - - 3 - 39
100.0 | 28.2 | 17.9 | 33.3 - - | 20.5 - 1.7
1~3DENTLELZD 67 20 i 21 1 - 14 - 67
100.0 | 29.9 | 16.4 | 31.3 1.5 - | 209 - | 132
®EE 1 1 - - - - - - 1
100.0 | 100.0 - - - - - - 0.2
1 B ERTY7)
e - =t 21 6 7 1 1 E 3 - 21
100.0 | 28.6 | 33.3 | 19.0 4.8 - | 143 - 4.1
EES 188 47 4 51 3 - 4 2 186
100.0 | 25.0 | 23.4 | 21.1 1.6 - | 21.8 1.1 | 36.7
JLRE - chEp 36 16 9 7 - - ) - 36
100.0 | 44.4 | 25.0 | 19.4 - - 111 - 7.1
|EE 66 29 12 18 - - 7 - 66
100.0 | 43.9 | 18.2 | 21.3 - - | 10.6 - | 130
TE - mE 34 1 8 8 1 = 6 - 34
100.0 | 32.4 | 23.5 | 23.5 2.9 - | 116 - 6.7
A - iR (BERBELS) 126 51 30 24 3 - 18 - 126
100.0 | 40.5 | 23.8 | 19.0 2.4 - | 143 - | 249
EREER 38 10 8 13 1 - 6 - 38
100.0 | 26.3 | 21.1 | 34.2 2.6 - | 15.8 - 1.5
mEE - - - - - - - - -
A - B (ERBE LS
a1 65 34 9 14 2 E 6 - 65
100.0 | 52.3 | 13.8 | 21.5 3.1 - 9.2 - | 518
EE R 5 - 2 1 - - 2 - 5
100.0 - | 40.0 | 20.0 - | 400 - 4.0
RIAE 4 1 1 2 - - - - 4
100.0 | 25.0 | 25.0 | 50.0 - - - - 3.2
AR 29 9 10 6 - - 4 - 29
100.0 | 31.0 | 34.5 | 20.7 - - | 13.8 - | 23.0
KR 7 2 2 - - - 3 - 7
100.0 | 28.6 | 28.6 - - - | 429 - 5.6
EHEE 12 4 6 1 - - 1 - 12
100.0 | 33.3 | 50.0 8.3 - - 8.3 - 9.5
BR 4 1 - - 1 - 2 - ]
100.0 | 25.0 - - | 2.0 - | 50.0 - 3.2
mEE - - - - - - - -
N2 FE
2 0BT 126 44 26 34 2 - 20 - 126
100.0 | 34.9 | 20.6 | 27.0 1.6 - | 159 - | 249
30mR 91 27 23 26 - - 15 - 91
100.0 | 29.7 | 25.3 | 28.6 - - | 16.5 - | 119
40mR 96 33 21 24 2 - 15 1 95
100.0 | 34.4 | 21.9 | 25.0 2.1 - | 15.6 1.0 | 18.7
5 0@t 100 34 27 18 2 - 18 1 99
100.0 | 34.0 | 27.0 | 18.0 2.0 - | 18.0 1.0 | 19.5
6 0ft 60 20 13 12 2 - 13 - 60
100.0 | 33.3 | 21.7 | 20.0 3.3 - | 217 - | 118
7 0®RLLE 3 10 5 1 1 - 4 - 3
100.0 | 32.3 | 16.1 | 35.5 3.2 - | 129 - 6.1
\EE 5 2 - - - - - 5
100.0 | 40.0 | 60.0 - - - - - 1.0
{4 - FE1ER
|%fri EXS 319 95 75 75 7 - 65 2 317
100.0 | 29.8 | 23.5 | 23.5 2.2 - | 20.4 0. 62.5
Bt 20 - 30mALT 136 45 33 31 1 - 26 - 136
100.0 | 33.1 | 24.3 | 22.8 0.7 - | 19.1 - | 2.8
Eff 40 50&K 121 32 29 29 3 = 26 2 119
100.0 | 26.4 | 24.0 | 24.0 2.5 - | 215 1.7 | 23.5
Bt 6 OmRLE 59 17 i 15 3 - 13 - 59
100.0 | 28.8 | 18.6 | 25.4 5.1 - | 20 - | 118
Bt EREEE 3 1 2 - - - - - 3
100.0 | 33.3 | 66.7 - - - - - 0.6
Y 189 75 43 49 2 - 20 - 189
100.0 | 39.7 | 22.8 | 25.9 1.1 - | 10.6 - | 313
&% 20 - 3 0BT 80 26 16 28 1 - 9 - 80
100.0 | 32.5 | 20.0 | 35.0 1.3 - | 113 - | 158
%% 40 -50mi 75 35 19 13 1 - 7 - 75
100.0 | 46.7 | 25.3 | 17.3 1.3 - 9.3 - | 148
& 6 0OmML 32 13 7 8 - - 4 - 32
100.0 | 40.6 | 21.9 | 25.0 - - | 125 - 6.3
L EREEE 2 1 1 - - - - - 2
100.0 | 50.0 | 50.0 - - - - - 0.4
EREZoLE! 1 - 1 Z - z - 1
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M= 2k 188 47 4 51 3 4 2 186 3.
100.0 | 25.0 | 23.4 | 27.1 .6 21.8 1] 367
EEYS 140 31 33 36 2 36 2 138
100.0 | 22.1 | 23.6 | 25.7 4 25.7 4 | 212
B 20 - 30mALT 62 16 13 17 - 16 - 62
100.0 | 25.8 | 21.0 | 27.4 - 25.8 - | 122
B 40 -50mK 53 10 13 14 1 13 2 51
100.0 | 18.9 | 24.5 | 26.4 .9 24.5 .8 | 10.1
Bt 6 OmRLE 24 5 6 5 1 7 - 24
100.0 | 20.8 | 25.0 | 20.8 ¥ 29.2 4.7
B FRENE 1 - 1 - - - 1
100.0 - 1100.0 - - - 0.2
ESTIEY 18 16 1 15 1 5 18
100.0 | 33.3 | 22.9 | 31.3 N 10.4 9.5
ZHE 20 - 3 0mARLT 25 8 4 9 1 3 25
100.0 | 32.0 | 16.0 | 36.0 .0 12.0 4.9
it 40 - 50mit 17 8 3 4 - 2 17
100.0 | 47.1 | 17.6 | 23.5 - 11.8 3.4
ZE 6 0miuL 6 - 4 2 - 6
100.0 - | 66.7 | 33.3 - 1.2
L FERRERE - - - - - -
R Z Dt - - - - -
14 1 4 (] 25 - - - - - -
UM - iR (ERBELSL) 126 51 30 24 3 18 126
100.0 | 40.5 | 23.8 | 19.0 4 14.3 24.9
ELEEY 64 24 17 10 2 1 64
100.0 | 37.5 | 26.6 | 15.6 1 17.2 12.6
B 20 - 3O0mALT 30 1 i 1 - 4 30
100.0 | 36.7 | 36.7 | 13.3 - 13.3 5.9
|%¢$ 40 - 50mfit 22 8 2 5 2 5 22
100.0 | 36.4 9.1 | 22.7 1 2.7 4.3
B 6 OmMALE 11 5 3 1 - 2 11
100.0 | 45.5 | 27.3 9.1 18.2 2.2
B FRERNE 1 - 1 - - 1
100.0 - 1100.0 - - - 0.2
= £k 62 27 13 14 1 7 62
100.0 | 43.5 | 21.0 | 22.6 .6 1.3 12.2
& 20 30mAUT 27 7 5 10 - 5 27
100.0 | 25.9 | 18.5 | 37.0 - 18.5 5.3
% 40 -50mfit 22 14 6 1 1 - 22
100.0 | 63.6 | 27.3 4.5 .5 - 4.3
% 6 OmMRLL 12 6 1 3 - 2 12
100.0 | 50.0 8.3 | 25.0 - 16.7 2.4
Mt FERHERE 1 - 1 - - 1
100.0 - 1100.0 - - 0.2
BT Dt - - - - -
EHERE - - - - - -
®EE (ZOMTY7) 195 72 4 50 3 26 195
100.0 | 36.9 | 22.6 | 25.6 .5 13.3 38.5
mEE - - - - - - -

M7 EEEH (2X5)

FSA475— (1EE) 183 58 44 49 3 29 - 183
100.0 | 31.7 | 24.0 | 26.8 .6 15.8 - | 36.1
JE—4— (2@EME) 312 107 74 68 6 55 2 310
100.0 | 34.3 | 23.7 | 21.8 .9 17.6 6 | 61.1
mEE 14 5 - 8 - 1 - 14
100.0 | 35.7 - | 5.1 7.1 2.8




18 QOERBMELICHT HEHE (H—EX - B THEL)

B3 RiHEW
x £ 3 ® X =
=5 r 10 B © z L i Eil
= b} b} N EN LAY E1] = E
4 2 2 o] b L % 4
1
E 509 255 134 75 1 1 39 4 505
100.0 | 50.1 | 26.3 | 14.7 0.2 0.2 1.7 0.8 |100.0
ESHRR 79 37 19 18 - ) 1 78
100.0 | 46.8 | 24.1 | 22.8 - - 5.1 1.3 | 15.4
Br - Lov— 323 166 92 34 1 1 26 3 320
100.0 | 51.4 | 28.5 | 10.5 0.3 0.3 8.0 0.9 | 63.4
RE - AR 39 19 8 7 - = 5 - 39
100.0 | 48.7 | 20.5 | 17.9 - - | 12.8 - 1.7
1~3DENTLELZD 67 33 14 16 - - 4 - 67
100.0 | 49.3 | 20.9 | 23.9 - - 6.0 - | 133
®EE 1 - 1 - - - - - 1
100.0 - [100.0 - - - - - 0.2
1 B ERTY7)
e - =t 21 il 1 5 - E 1 - 21
100.0 | 52.4 | 19.0 | 23.8 - - 4.8 - 4.2
EES 188 91 49 28 1 - 16 3 185
100.0 | 48.4 | 26.1 | 14.9 0.5 - 8.5 1.6 | 36.6
JLRE - chEp 36 19 15 1 - - 1 - 36
100.0 | 52.8 | 41.7 2.8 - - 2.8 - 7.1
|EE 66 34 18 10 - - 3 1 65
100.0 | 51.5 | 27.3 | 15.2 - - 4.5 1.5 | 12.9
TE - mE 34 16 8 5 - 1 4 - 34
100.0 | 47.1 | 23.5 | 14.7 - 2.9 | 11.8 - 6.7
A - iR (BERBELS) 126 65 29 19 - - 13 - 126
100.0 | 51.6 | 23.0 | 15.1 - - | 10.3 - | 250
EREER 38 19 i 7 - - 1 - 38
100.0 | 50.0 | 28.9 | 18.4 - - 2.6 - 1.5
mEE - - - - - - - - -
A - B (ERBE LS
a1 65 38 12 10 - E 5 - 65
100.0 | 58.5 | 18.5 | 15.4 - - 1.7 - | 518
EE R 5 1 1 1 - - 2 - 5
100.0 | 20.0 | 20.0 | 20.0 - - | 400 - 4.0
RIER 4 2 - 2 - - - - 4
100.0 | 50.0 - | 500 - - - - 3.2
AR 29 10 10 5 - - 4 - 29
100.0 | 34.5 | 345 | 17.2 - - | 13.8 - | 230
KR 7 4 1 - - - 2 - 7
100.0 | 57.1 | 14.3 - - - | 286 - 5.6
EHEE 12 8 1 - - - - - 12
100.0 | 66.7 | 33.3 - - - - - 9.5
BR 4 2 1 1 - - - - 2
100.0 | 50.0 | 25.0 | 25.0 - - - - 3.2
mEE - - - - - - - - -
N2 FE
2 0BT 126 62 32 18 1 - 12 1 125
100.0 | 49.2 | 25.4 | 14.3 0.8 - 9.5 0.8 | 24.8
30mR 91 47 23 15 - - 5 1 90
100.0 | 51.6 | 25.3 | 16.5 - - 5.5 1.1 | 17.8
40mR 96 50 24 15 - - 6 1 95
100.0 | 52.1 | 25.0 | 15.6 - - 6.3 1.0 | 18.8
5 0@t 100 47 30 14 - - 8 1 99
100.0 | 47.0 | 30.0 | 14.0 - - 8.0 1.0 | 19.6
6 0ft 60 29 15 9 - - 7 - 60
100.0 | 48.3 | 25.0 | 15.0 - - 117 - | 119
7 0®RLLE 3 17 8 ] - 1 1 - 31
100.0 | 54.8 | 25.8 | 12.9 - 3.2 3.2 - 6.1
\EE 5 3 2 - - - - - 5
100.0 | 60.0 | 40.0 - - - - - 1.0
{4 - FE1ER
|%fri EXS 319 147 87 49 - 1 3 ) 315
100.0 | 46.1 | 27.3 | 15.4 - 0.3 9.7 1.3 | 62.4
Bt 20 - 30mALT 136 70 35 16 - - 13 2 134
100.0 | 51.5 | 25.7 | 11.8 - - 9.6 1.5 | 26.5
Eff 40 50&K 121 50 34 23 - = 12 2 119
100.0 | 41.3 | 28.1 | 19.0 - - 9.9 1.7 | 23.6
Bt 6 OmRLE 59 25 17 10 - 1 6 - 59
100.0 | 42.4 | 28.8 | 16.9 - 1.7 | 10.2 - | 117
B FRENE 3 2 1 - - - - - 3
100.0 | 66.7 | 33.3 - - - - - 0.6
Y 189 107 a7 26 1 8 - 189
100.0 | 56.6 | 24.9 | 13.8 0.5 - 4.2 - | 314
&% 20 - 3 0BT 80 38 20 17 1 - 4 - 80
100.0 | 47.5 | 25.0 | 21.3 1.3 - 5.0 - | 158
%% 40 -50mi 75 47 20 6 - - 2 - 75
100.0 | 62.7 | 26.7 8.0 - - 2.7 - | 149
& 6 0OmML 32 21 6 3 - - 2 - 32
100.0 | 65.6 | 18.8 9.4 - - 6.3 - 6.3
L EREEE 2 1 1 - - - - - 2
100.0 | 50.0 | 50.0 - - - - - 0.4
EREZoLE! 1 1 Z - - - - - i
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M= 2k 188 91 49 28 1 - 16 3 185
100.0 | 48.4 | 26.1 | 14.9 0.5 - 8.5 1.6 | 36.6
EEYS 140 64 37 23 - - 13 3 137
100.0 | 45.7 | 26.4 | 16.4 - - 9.3 2.1 | 27.1
B 20 - 30mALT 62 31 13 10 - - 7 1 61
100.0 | 50.0 | 21.0 | 16.1 - - | 1.3 1.6 | 12.1
B 40 -50mK 53 23 15 9 - = ] 2 51
100.0 | 43.4 | 28.3 | 17.0 - - 1.5 3.8 | 10.1
Bt 6 OmRLE 24 10 8 1 - - 2 - 24
100.0 | 41.7 | 33.3 | 16.7 - - 8.3 = 4.8
B ERROE i - i - E - - = i
100.0 - 1100.0 - - - - - 0.2
ESTIEY 48 27 12 5 1 - 3 - 18
100.0 | 56.3 | 25.0 | 10.4 2.1 - 6.3 - 9.5
ZHE 20 - 3 0mARLT 25 14 5 3 1 - 2 - 25
100.0 | 56.0 | 20.0 | 12.0 4.0 - 8.0 - 5.0
it 40 - 50mit 17 9 5 2 - - 1 - 17
100.0 | 52.9 | 29.4 | 11.8 - - 5.9 - 3.4
ZE 6 0miuL 6 4 2 - - - - - 6
100.0 | 66.7 | 33.3 = - - - = 1.2
Zft FRREE - - - - - - - -
R Z Dt - - - - - - - - -
ETIEEES - - - - - - - - -
UM - iR (ERBELSL) 126 65 29 19 - = 13 - 126
100.0 | 51.6 | 23.0 | 15.1 - - | 10.3 - | 25.0
ELEEY 64 31 17 7 - - 9 - 64
100.0 | 48.4 | 26.6 | 10.9 - - | 141 - | 127
B 20 - 3O0mALT 30 16 8 3 - - 3 - 30
100.0 | 53.3 | 26.7 | 10.0 - - | 10.0 - 5.9
|%¢$ 40 - 50mfit 22 9 5 4 - - 4 - 22
100.0 | 40.9 | 22.7 | 18.2 - - | 18.2 - 4.4
B 6 OmMALE 11 5 4 - - - 2 - 11
100.0 | 45.5 | 36.4 - - - | 18.2 - 2.2
B FRERNE 1 1 - - - - - - 1
100.0 | 100.0 - - - - - - 0.2
= £k 62 34 12 12 - - 1 - 62
100.0 | 54.8 | 19.4 | 19.4 - - 6.5 - | 123
& 20 30mAUT 27 9 6 10 - - 2 - 27
100.0 | 33.3 | 22.2 | 37.0 - - 7.4 - 5.3
% 40 -50mfit 22 16 ] 1 - - 1 - 22
100.0 | 72.7 | 18.2 4.5 - - 4.5 - 4.4
% 6 OmMRLL 12 9 1 1 - - 1 - 12
100.0 | 75.0 8.3 8.3 - - 8.3 - 2.4
Mt FERHERE 1 - 1 - - - - - 1
100.0 - 1100.0 - - - - - 0.2
BT Dt - - - - - - - - -
EHERE - - - - - - - - -
®EE (ZOMTY7) 195 99 56 28 - 1 10 1 194
100.0 | 50.8 | 28.7 | 14.4 - 0.5 5.1 0.5 | 38.4
mEE - - - - - - - - -

M7 EEEH (2X5)

FSA475— (1EE) 183 87 55 17 1 - 20 3 180
100.0 | 47.5 | 30.1 9.3 0.5 - | 10.9 1.6 | 35.6
JE—4— (2@EME) 312 162 78 52 - 1 18 1 311
100.0 | 51.9 | 25.0 | 16.7 - 0.3 5.8 0.3 | 61.6
mEE 14 6 1 6 - = 1 - 14
100.0 | 42.9 7.1 | 42.9 - - 7.1 - 2.8




19 ERETM~OBHEM
13 REEM

1 2% E T
# B <5 5 o 3
= 3 H— 5 T [l
24 1 1B & H %=
= [(ARY £ 1=
- =) Ly [A)
[ L Z &
Ay A %
5 W 2
1T H
£ & 509 339 156 14 - -
100.0 | 66.6 | 30.6 2.8 - -
ETHR 79 55 23 1 - -
100.0 | 69.6 | 29.1 1.3 - -
Bk Lov— 323 200 112 1 - -
100.0 | 61.9 | 34.7 3.4 - -
iR& - 0 AFAR 39 31 8 - - -
100.0 | 79.5 | 20.5 - - -
1~3NENTHHREVED 67 53 12 2 - =
100.0 | 79.1 | 17.9 3.0 - -
mEE 1 - 1 - - -
100.0 - 1100.0 - - -
Bl Bt ERTYT)
JLiEE - &'t 21 16 5 - E -
100.0 | 76.2 | 23.8 = - -
EES 188 119 67 2 - =
100.0 | 63.3 | 35.6 1.1 - -
JLEE - ER 36 21 13 2 - =
100.0 | 58.3 | 36.1 5.6 - -
|EE 66 43 20 3 - -
100.0 | 65.2 | 30.3 4.5 - -
hE - mE 34 20 i 3 - -
100.0 | 58.8 | 32.4 8.8 - -
AU - R (BERBELSL) 126 84 38 1 - -
100.0 | 66.7 | 30.2 3.2 - -
ERER 38 36 2 - - -
100.0 | 94.7 5.3 - - -
TR - - - - - -
A - R (R B R LIS
Y 65 45 17 3 - -
100.0 | 69.2 | 26.2 4.6 - -
EEE 5 1 ] - - -
100.0 | 20.0 | 80.0 - - -
R 4 1 3 - - -
100.0 | 25.0 | 75.0 - - -
BEAIE 29 17 i 1 - =
100.0 | 58.6 | 37.9 3.4 - -
Ko R 7 6 1 - - -
100.0 | 85.7 | 14.3 = - -
EGE! 12 12 - - - -
100.0 | 100.0 - - - -
g IR 4 2 2 - - -
100.0 | 50.0 | 50.0 - - -
WEE - - - - - -
N2 FE
2 0BT 126 65 57 4 - -
100.0 | 51.6 | 45.2 3.2 - -
30&Rk 91 62 26 3 - -
100.0 | 68.1 | 28.6 3.3 - -
40mR 96 72 23 1 - =
100.0 | 75.0 | 24.0 1.0 - -
5 0 mft 100 74 24 2 - -
100.0 | 74.0 | 24.0 2.0 - -
6 0f 60 39 18 3 - -
100.0 | 65.0 | 30.0 5.0 - -
7 OB 31 22 8 1 - =
100.0 | 71.0 | 25.8 3.2 - -
\EE 5 5 - - - -
100.0 | 100.0 - - - -
1 - ZE AR
|%’ri EXS 319 207 102 10 = -
100.0 | 64.9 | 32.0 3.1 - -
B 20 - 30mMALT 136 80 51 5 - -
100.0 | 58.8 | 37.5 3.7 - -
Bt 40 - 50mK 121 87 32 2 - =
100.0 | 71.9 | 26.4 1.7 - -
B 6 OmRLE 59 37 19 3 - -
100.0 | 62.7 | 32.2 5.1 - -
B FRENE 3 3 - - - =
100.0 | 100.0 - - - -
&z £k 189 131 54 1 - =
100.0 | 69.3 | 28.6 2.1 - -
ZHE 20 - 3 0mALUT 80 46 32 2 - -
100.0 | 57.5 | 40.0 2.5 - -
it 40 - 50t 75 59 15 1 - =
100.0 | 78.7 | 20.0 1.3 - -
Z 6 OmMLIE 32 2 7 1 - -
100.0 | 75.0 | 21.9 3.1 - -
L FERRERE 2 2 - - - -
100.0 | 100.0 - - - -
451 F D it 1 1 Z - Z -
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FEMR BIR - ) x % - FHK

i 2% 15 AT
Bl B T>5 5 (A%} Fid
= i3 H— 5 T e
4 1T -E & & -

= (A% ) f=

1= D) Ly Ly

(R L z &

A = [Es

A R 5}

1T H
EEIETS 188 119 67 2 - -
100.0 | 63.3 | 35.6 1.1 - -
Bt 2K 140 92 47 1 = -
100.0 | 65.7 | 33.6 0.7 - -
B 20 - 30BMAUT 62 33 28 1 - -
100.0 | 53.2 | 45.2 1.6 - -
Bt 40-50mK 53 39 14 - - -
100.0 | 73.6 | 26.4 - - -
B 6 omftuE 24 19 5 - - -
100.0 | 79.2 | 20.8 - - -
Bt FRERE 1 1 - - - -
100.0 | 100.0 - - - -
EXEEXN 48 27 20 1 - -
100.0 | 56.3 | 41.7 2.1 - -
% 20 - 30BAUT 25 14 10 1 - -
100.0 | 56.0 | 40.0 4.0 - -
ZE 40 - 508t 17 9 8 - - -
100.0 | 52.9 | 47.1 - - -
ZE 6 0miuL 6 4 2 - - -
100.0 | 66.7 | 33.3 - - -
ZE FRHERE - - - - - -
4512 Dt - - - -
EHEIEES - - - - - -
A - PR (BRRBRLUSN) 126 84 38 4 - =
100.0 | 66.7 | 30.2 3.2 - -
B 2K 64 39 22 3 - -
100.0 | 60.9 | 34.4 4.7 - -
Bt 20 - 30mALT 30 19 10 1 - -
100.0 | 63.3 | 33.3 3.3 - -
Fﬁ 40 - 50mfit 22 14 7 1 - -
100.0 | 63.6 | 31.8 4.5 - -
= 6 OmfULE 11 5 5 1 - -
100.0 | 45.5 | 45.5 9.1 - -
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